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QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions.
There are EIGHT questions divided in Two Sections and printed both in HINDI and in ENGLISH.
Candidate has to attempt FIVE questions in all.

Question no. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted choosing at
least ONE from each section. '

- The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission certificate which must be stated clearly
on the cover of this Question-cum-Answer (QCA) booklet in the space provided. No marks will be given
for answers written in medium other than the authorized one.

Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in chronological order. Unless struck off, attempt of a question shall
be counted even if attempted partly. Any page or portion of the page left blank in the answer book must
be clearly struck off.
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SECTION—A

Q.1. Fr=faiem 9T ReowomeRs Rwimr ey, o 79 150 wear ¥ AuE B T 8 —

Write analytical notes on the following in not more than 150 words each :— 10x5=50

Q. I(a) ‘geigT T wRwrom SmA =R yEEl & g1 UAEr o eargyl Oft ¥ wmwew & asdl
H UG & ®Y K @ W g

‘Management is defined as attainment of organisational goals in an effective and efficient manner
through its four functions’. 10

Q. 1(b) ©eATTH® WITAT 3989 & g AdRN @ [Gem FATI

Developing leaders through organisational structural design. 10
Q. 1(c) WITEATHF AR T WheUATHF Hisel A HABR & Y&H TE ALUYTH [a9aom TR
TERd 8 |

The conceptual model of organisational behaviour is based on micro and applied analysis of
human behaviour. 10

Q. 1(d) ‘THETY HAWEA UG ScUGHdl FFAE AT TE 8|

“Employee morale and productivity are not mutually dependant’. 10
Q. 1(e) Wi H woHaTl wH uHEl wwEEwA % MU Al w1 wwisds e |
Empowerment of people for efficient and effective functioning in Teams. 10

Q. 2. 7% IaX 300 wear ¥ e F A g wfvw —
Each answer shall not exceed 300 words :— 50

Q. 2(a) ‘Wﬁmaﬁ%aﬁﬁ@mﬁﬁw%uﬁ%wmév
gl HIY |

‘High internal locus of control exhibits more political behaviour in an organisation.” Discuss.

20

Q.2(b) BE X’ X 'Y’ HWisw W Frwmlen FXA H wlm & aPwgRi w1 giafsw e
g1 e yFR 7 F % Aged Wl & W9 WX UNE SR 8 7 9WeYl R Yd

L ST FINTC |
Theory ‘X and Y’- model reflects the attitude of a person in performing the task. How ? Does
this influence the selection of the leadership style ? Explain with examples. T8=15
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Q. Ac) g I¥FeT & Siw ffEmcar @A’ (JCM) FT 9uE Sig | I8 FRan SEwen #
e ger 3wl 8l @war g7

Describe the ‘Job Characteristics Model” (JCM) of Job design. How it can be useful in

Employee motivation 7 &+7=15
Q. 3. 9% SH 300 Tesl W U ® ORI B WIRT — ‘ 50

Fach answer shall not exceed 300 words :—

Q. 3(a) YA TA WIUT B/ FHeTT AT IEw @A X @ @Y |

Discuss the concept and advantages of Flexible Systems Management. 15

Q. 3(b) Tawaemrdirg spf-sasen W, WAl B SHR FAED SR IRl Y€ w1 wmEe
ST &Edl B ¢ TASE @IY |

How technology enables an effective and efficient management in a Globalised Economy ?

Explain. 20

Q. 3(c) T HINC fF T PR WU USR], YoUnel  FIOwE 1 TH Hed © |

Explain how motivation is a function of valence, expectancy and instrumentality. 18

Q4. =T 3T 300 Wl ¥ At ¥ AE S =ity —

Each answer shall not exceed 300 words :— 50

Q. 4(a) THE®w faEmor FR FTw@iox fFEmer & @9 [{Yes Fikm Fg ger offes e
TNGATcHs ga-Teical &1 Ieqsl Heal & 7

Differentiate between ‘Lateral thinking” and ‘Vertical thinking’. How lateral thinking generates

organisational creativity ? _ 10+10=20
Q. 4(b) ¥l Tu@ ¥ F Aew & 7 WA H A FW-SEA Sgod HE gER gRkEd s
g 7

What is Job Stress ? How do you assure work-life balance in an organisation ?  8+7=15
Q. 4(c) ‘faclio”’ & w7 awwd ¥ P F e fER B ysue oqd aefEed ik wd fysamA
P [EFR, 53 IR FBA9T F e @ gy u9Rg w3 Gnd 8 ¢ e $i |

What is ‘extinction” ? Do you think that Managers will be able to influence subordinates and

their performance by using reward, punishment and extinction ? Explain. F+8=15
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SECTION—B
Q.5. F=feieag o fewners ot fafeoe, & v 150 wear & s & T 8 —
Write analytical notes on the following in not more than 150 words each :— 10x5=50

Q. 5(a) Ysima @ma ST Fraw Fig

Cost of Capital and Investment Decisions 10
Q. 5(b) faxfim =g (SREfka)—F@ew sk ame

Financial Derivatives—Options and Futures 10
Q. 5(¢) #Fmiie fmfa ik gAd A

Management of Corporate distress and restructuring 10
Q. 5(d) WX F TIHIOT AR TAH-HET

Segmenting and targeting the market - 10
Q. 5(e) sTwiT RuuF . gE S A |

Internet Marketing : Issues and Challenges. ' 10

Q. 6 U ITX 300 Wl ¥ AlUw W ARl BAT =R —

Each answer shall not exceed 300 words :— 50

Q. 6(a) YFU-SNERG YeET ¥ Wafdw, Teu-wmel’ AT FE UHEST WHAT FOTSC M |

Explain the ‘Value drivers’ and ‘Key managerial processes’ relevant to value-based management.

20

Q. 6(b) s Tryme @Y Y Smudw @’ # TSE FNT| T8 dgaT W fEwdue ¥ e
yH Faltd & 7

Explain the term ‘Margin of safety” and ‘Angle of incident’. How is it related to break-even

analysis ? ) 8+i=15

Q. 6(c) wmite faxim wigal =1 7r 3f 8 ? wufic Ry #@sdl & w9 & RQ s
. @ HEAEATCHS  [QEaner g |

What is meant by corporate financial models ? Critically analyse the conditions for the use of

corporate financial models. 7+8=15
Q.7. IUF IuX 300 weal ¥ Iw ¥ A e =g —

Each answer shall not exceed 300 words :— 50

Q. 7(a) SIEIV YR FIW gL WAARY & IFU ARG w9eA’ Hoamd FEEAm ® F g
gd & w9 H B9 ysR gwue oS @ @

Explain with examples, how ‘zero-based budgeting’ can be used as an effective instrument of
cost control. 20
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Q. 7(b)

Q. 7(c)

SMEHE’ (IPO) & &1 éﬁ“a%m—rﬁ—rr Frfemat @1 SerEr e goi’ § 98T 8 | §AmagE s
fEroeroy #feng |

Raising long term funds through ‘IPO’ is better than “Venture Capital’. Critically analyse.

15
g7 H aaRE qed’ § F oof 8 ¢ e Fdaw Frotal H os@ d@dedAr @ w0 iR
fre geTe SrIYgT T wmar ® 7

What is ‘present value’ of money 7 Why and how this concept is applied in capital investment

decisions ? 15

Q.8. =% TwX 300 =l ¥ ¥ W W wAr =Ry —

Each answer shall not exceed 300 words :— 50

Q. 8(a) IR SEA-=F @ FRFFT swuel & Weg # fGuva-fy et wwse @

Explain the marketing-mix-strategies in relation to various stages of Product Life Cycle. 15
Q. 8(b) IUYFd IEEXUN 1 EATeN od §U, Weheddrdl fAuur’ @l Heweud Y giefdRd@r 9X w=El

PHITT |

Discuss the concept and significance of ‘Holistic marketing’, citing suitable examples. 15
Q. 8(c) #awpi & Ry Ieael & g %ﬁ?ﬂwfﬁ—?% ? Tse HIT Y ISTE

® g wEesy |

How marketing of services differ from marketing of products ? Explain and illustrate. 20
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